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Determine

a) 

b) 

c) 

d)  

⃗A + ⃗B⃗A − ⃗B⃗A + ⃗C⃗A + ⃗B + ⃗C



A plane has an air speed of 880 km/h and aims 40º west of 
south. Wind blows from the west at 80 km/h. What is the 
groundspeed of the plane? Direction?


A plane can travel at 700 km/h in still air. A 100 km/h wind 
blows 30º north of east. What direction should the plane aim 
to reach a destination directly to the east?
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A plane has an air speed of 880 km/h and aims 40º west of 
south. Wind blows from the west at 80 km/h. What is the 
groundspeed of the plane? Direction?


A plane can travel at 700 km/h in still air. A 100 km/h wind 
blows 30º north of east. What direction should the plane aim 
to reach a destination directly to the east?
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